




















Alice and Bob want to exchange private notes. Unfortunately, sitting between them is their "friend" Carl, who they don't really 
trust. Carl tries to read every note that gets passed, whenever he can. So, Alice buys a special briefcase that you can attach 
locks to. You can actually attach as many padlocks as you want. Alice and Bob both have their own padlocks and keys.



But they can’t share the locks and keys with each other without Carl getting them. So Alice has her lock and key, and Bob has 
his.



The Problem:



How can Alice send a secret message to Bob without Carl being able to read it?
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